SUMO

PROFESSIONAL

FULLPOWERY TRIMMER
530 =370

dlasinsady, |

nihduwalsouldunnoniduasb eeniuu . = nJsvnaul(Carbon Brush} (SW §x9x13 5mm)

TRetidhurdoweonoulaoareigoan " whlasevrhudhuuencioinseva:aoniumsiuasulUsormu

High-grade toggle switch can use more than External carbon cap, easy to replace. ol

100,000 times, and it is designed on the back dudsus:=s- N anuu

of machine for high security. 0 i 4 = .l Ceert)
e Uuryulsuigougnudu-ao wel NUE s

asiAson. . K sumo knob for depth adjustment. - | '

unarSoonTiaga Tuhruniun Tionuetaon W o

Commutator
WaUIBU-NODIa0EO thnsishWwhiaa
nuciemsanrso aamsina elv

DoidaadnuiUsoru
Wear- re%nt high- sulver-copper commﬁten. ,f\

vheicioMsAoUALIIIWEDLOIRED
Small design, light and easy to use.
Controlable by single hand.

Upassadlaal(slidelGauge)
ainauons:e:msUSUCD I18QDHLOEI

iBusudiuasia:to
Centimeter and inches unit for depth level
measurement.

UuruudoneUnsnliasy 15U —1

Inomsomoltnﬂm'lu
knob for accessory locker e.g. straight
guide etc.

Jaua:-asania

puRlusola ennsnueviRuBUNTUIGEaU
Transparent base for best view of the workpiece.

~ O
nwuiHansanous 41
insagvsaiaup
High speed @old rolled silicon steel.

= "HOHHUOUQU
ES boal‘J‘oanuan
370 !:‘é Safety plastic wash

INU:ENKSU (Suitable for)

MsaNICOBEUDIU KSOUIWOSTIDOS 15U
Icdoud GAo agansld auuu msoo IJudu

Workpiece decoration or furniture such as comices
frimming, carving, comer chamifer, wood grooving, etc.

58113 (How to use)

yunamuasn 6 Uu. 1IdonsunsuaonnsuILoS
Rinunuasoaendoons

IR Ad JoyamvinAUA (Technical Data) |
Shaft of blade 6 mm, choose proper blade type

ISOAUMMA - Rated Voltage 220V

for workpiece.

QUNSOULNASYU Standard Accessories) AOWAMMA - Rated Frequency 50Hz
@ Uﬁ:n?_ﬁen {Spenner) MAaOIWWA - Rated Input Power 530W

@ IWUUDIAGI (Dust washer) y
@ A0UDAU (Alum) ADIUISOSOU - No Load Speed 35000RPM
@ IMaNALaIN(SICI0) (straight guide) Junaiusonnu - Carbon Brush 6x9x13.5mm
® ® YUNAKODUQON - Capacity Collet 6.35mm (1/4")
uuNaYU - Base Size 9x8cm
. ! ADWENDENEIW - Cable Length 2m

® W O] = =
>y UUNAIASOD - Dimension 78x78x190mm
i !

LhKUN - Weight 1.6kg




. SUMO

¥\ PROFESSIONAL

FULL POYWER

RATED INPUT POWER W %{1]}

Trimmer
370

Spare Parts




PROFESSIONAL

FULL POWER  TRMMER 35

, SUMO'

1 o,

-
—t |

{1/AN

{1/

=

RATED INPUT POWER W%:{1]'/]
Spare Parts g[,'(',“me’
Description Thai Name QTY Price Remark

01. POWER SUPPLY CORD 1

02. CORD GUARD 1

03. NAME PLATE 1

04. TOP COVER 1 -
06. PAN HEAD SCREW M4X8 1

07. TAPPINGS CREW 4X18 1

08. STRAIN RELIEF 1

11.  SWITCH 1

12. LOGO LABEL

—r

13.  CABON BRUSH CAP 2
14.  CARBON BRUSH 2
15.  BRACKET 1
16. STATOR 1
17.  TAPPING SCREW 4X65 1
18.  RUBBER RING 1
19.  BEARING 607 1
20.  INSULATION WASHER 1
21. ARAMTURE 1
23. BEARING 6002 1 }
24.  WAVE WASHER 1 |
25.  TAPPING SCREW 4X35 1
26.  MOTOR HOUSING COMPLETE 1
27. COLLET CONE 1
28. COLLET NUT 1
29. THUMB SCREW MS5X30 1
30. FLAT WASHER 1
31. THUMB SCREW M6X25 1
32.  FLAT WASHER 1
33. HEX. NUT 1
34. BASE 1
35. BASE PROTECTOR 1

36. PAN HEAD SCREW M4X10 1




INS9DISHNDS 12mm
ROUTER

360
FULL
POVWER

aaInson BoDS-UNEAIILSOU
WAODINIAQISUDITESD Heat vent

wanaanniuanuiw nuacwsouldgo

Housing made of flame resistant engineering plastic.

Spindle Lock
Wasuaonishiaosiaoe
Weonaludoningeio
Change the blade easily by
spindle lock press.

naulaaaoniso
WousuIdounSoolitu-ao
OENDSAISIaE

Adjust up-down easily and X
quickly by quick unlock knob. i 5

. e S

Depth Stop L : ]
ALUMUADS:aU WoUsU :
aowanlumsriasuiu
Adjust knob for depth.
Uunuudonaunsndiasy 1su

1nnmmonnrmruo"|u ! |
Knob for accessory locker e.g. f
straight guide etc.

daUsSuAIILANIUUAzIoEHq,
(Eineladjustment; knob}
DonyuluINSovddeudU-ahia:aa
Adjust knob for fine depth adjustment.

NSUMOS
D

N uu‘sumu (Carbon| Brush)
. _(Size: 7x18x17mm)

. whtaseorhudutonéoinson

aaonfumsiaaunlsornu
‘External carbon brush cover,
easy to replace.

adasinsadao

rhauwalBoulauNNIMAUASD ©oNIuU
TRegdunaowonouaoansanaa

High-grade toggle switch can use more than
00,000 times, and it is designed on the back
of machine for high safety.

0D U (Fixed! side handle)
QNEENIVUMUASS:AMAENS Woaa
AWIDoaawoLToloWIBIuUNE IO
Handle is designed according to ergonomics to
reduces the user's wrist fatique while working.

Cutte ‘depth gauge

|aau‘ﬁ>kaﬁ|fijﬂaamsuaﬂn
M}llﬁ'mer and inch unit for

=

uwuo-asania
[(Clear acrylic)
anunsolaonuwunanisonu
Dust and fragment protection while working.

Dalaliaztioadaon
(Colleti& Lockinut)
Brivoonisicasiusuna
AU e 1200,

Suitabel for router drill bit
chuck size Bmm and 12mm

INANINES] (Gear Spindle)

snunoman'ﬁn"lsnn&mmh 3 &Eil
3 level of depth (pre-setting and adj ble)

Commutator A
waupU-noviaogo thnsliawwhlaa nuctems
dnnso aomsinaUs:mewidaidaaanuiusoiiu
Wear-resistant high-silver-copper cammutator.

[ HHOUHUOUOU

boedaonuanﬂumnﬂmusomsn%laﬂoﬁﬂlsn
Safety plastic washer protects ball bearing

AUINEDASOED NUCOMSANNSO
Wear resistant high precision gear shaft.

439500%7/RP¢c;

OUﬂSﬂij\SU']U(Standard Accessories)
@ UsI0d0N (Spanner) @:)__. u

(@ &OUDAU (Alum)
® IKaNAbaN(SaA0) ‘3’@%
(Straight guide)
IKUN:aKSU (Suitable for)
MSANICIDBUDIU KSOMUWOSTIDOS 15U ICiDUD AR aaansll auuu
iS00 1I0udu

Workpiece decoration or fumiture such as comices trimming, carving, comer chamfer, wood
grooving, etc.

38013 (How to use)

uunamuaen 12 wu. idonsunsoconsicies Kiruriuaocaanendiooms
Shaft of blade 12mm, choose proper blade type for workpiece.

nwWuUiHansanouinsagvsaldau
High speed cold-rolled silicon steel.

wWanoaa (Stator)

[
|
)
i
T
r

from dust and dirt.

JolaninAUA (Technical Data)

ISOAUIWWN - Rated Voltage 220V
AOWOMWWA - Rated Frequency 50Hz
MAOWWA - Rated Input Power _ 1650W
ADJISOSOU - No Load Speed 22000RPM
yunaidsomu - Carbon Brush 7x18x17mm
UJUNAKIDUQON - Capacity Collet 12.7mm (1/2")
JuNQPU - Base Size | 160mm
AOWENoaNEIW - Cable Length 2m

27x16.5x30cm
5.5kg

JUNQIASOD - Dimension

UhUN - Weight




INS0VISNNOS 12mm | o
ROUTER R

360
FULL

EROGESSIONAL

2]
[}

N

b e =
0=\ \\

f+4]
w

=1)
w

]
[=]




INS2DISNN9S 12mm
ROUILER

Sr.No Description

01.

02.
03.
04.
05.
06.

07.

08.
09.

10.

1.
12
13.
14.
15.
16
17
18.
19.

20.

21.

22.
23.
24.
25.
26.

27.

28.
29.
30.

31.

32.
33.
34.
35.
36.

37

38.
39.

41.

43.
44.
45.
46.

47.

48.
49.
50.

51.

52.
53.
54.
55.

PAN HEAD SCREW M4X20
TOP COVER

MOTOR HOUSING SET
LOGO LABEL

STATOR

BAFFLE PLATE

BALL BEARING

RESIN WASHER
ARMATURE’
ARMATURE

BEARING RETAINER
BALL BEARING

KNOB L SET

KNOB L SET

MOTOR BRACKET COMPLETE
PAN HEAD SCREW
COMPRESSION SPRING
HALF NUT

COLLET NUT

COLLET CONE 1/2"

PAN HEAD SCRW
KNOB R SET

KNOB R SET

PAN HEAD SCREW
LOCK LEVER

SET BOLT

TORSION SPRING

CAP

SHOULDER PIN
COMPRESSION SPRING
THUMB SECREW
COUNTERSUNK HEAD SCREW
TAPPING SCREW
BRUSH HOULDER
CARBON BRUSH

CORD GUARD

CABLE

STRAIN RELIEF
TAPPING SCREW
SWITCH

NYLON NUT

KNOB 50 COMPLETE
BEARING BX

TAPPING SCREW
NAME PLATE

SWITCH COVER

PAN HEAD SCREW
POLE

COMPRESSION SPRING
BASE COMPLETE

CHIP DEFLECTOR
THUM SCREW
COUNTERSUNK HEAD SCREW

Thai Name

—_———

EROGESSIONAL

RATED INPUT POWER

3

ek ek e e e el e e e el e e el el e e el e e e el e e el e e e e e e e e e e e e e e e e e e e ek By = = = e e

Price

Remak

1650W




ROUITIER

IN59VISHA9S 12mm R

EROGESSIONAL

Sr.No Description Thai Name
56. BINDING HEAD SCREW
57. BASE PLATE
58. LOCK PIN
59. STOPPER
60. HEX.NUT
61. COMPRESSION SPRING
62. HEX.BOLT
63. FLAT HEAD SCREW

c

Price Remak

64. HEX.NUT
65. HEX.BOLT
66. HEX.NUT

67. HEX.BOLT

68. COMPRESSION SPRING
69. THUMB SECREW

70. HEX.NUT

A T I e e e e e B B B A W Y



INSOVIADHINGO

JIG SAY

SUMO
INDUSTRIAL

v 231

@ A=

r

DOUTNINU sin 7

Juaanadad
ahnsunisiBonuceitioo Woaano U

IDosd" sxnmsnaadasiduoaiunu
Switch lock button for continuous working
to reduce fatigue.

AUV

prevent sliding.

awsnUSUsounNWISIIA 6 s:AU
Can adjust the speed 6 levels.

QJIASAIY
yunainsoviAnn:Nnasa kuniul
TBoushe Uaoariedosmshu

auoudooriu 2 15U
Small design, light weight and easy
to use. Double insulation for safety.

Inuo:ASaNnTa
(Clear acrylic)

awsnJoonuwuoaiizonu
Dust and fragment protection while
working.

Us:innuovluidoy
Tudos T111C Saw blade T111C

ainsnaa>aaawliafmu}

=

asay
LJunaTnUuuuwaThrunnnoonnuu

LW oA UAUNEUNU: Tbmuna-

anunsnUsuaouiSoseould

Large trigger switch design for more
comfortable using. Variable Speed
Control by rigger switch.

¥oVS:=UNYAIUSAU

ooNIuUMUEaSS:AENS WoaanUIDesdvovdololu
) —_— [ R | — - — —_ )
YnUNOU Denonuaunwaaadadaq TPR ns:BUIku:Uo
The handle is designed according to ergonomics. It reduces the
user's wrist fatique while working. TPR soft handle to

1,850.-/Pc
5 Pcs/Ctn

o~

HJGUUSUIIO\)TUIHOUOH
16 3 s:dU TBoushena:a:aon

3 level adjustable switch, easy
to use and convenient.

] flayanVINATA (Technical Data)

I\ - IsoAulwwh 220V svduaifiou  Gald i
wa ’a“n Rated Voltage Weighted {Cutting Wood) / 14m/s
) ) DWERRSaUSLIBEDIA Vibration coan
ot i Lub] (tp esmriing) o e, qjﬂq and[metalfmaterialsh - ﬂ:)_'lUlf_ﬂWW] 50Hz (Cutting Steel) / Tm/s”
N Rated Frequency
eunsndinasgu — -~ -
raoiwwh 600W aAowdoidsounerinoiu 105dB (A)

(Accessories Standard)

Rated Input Power

Sound Information

1. TUIéIOEI 17u (Blads 1 Pr)
2. fiotlosnaqatu 1du

BDOW

3. Tnddodia 1 SU (paraliel Guice 1 P

A msoou 1 A (Carbon Brush 1 Sat)
= Bevel Range

AUISDSOU 500-3000RPM  uunansonu 6x9x11 mm
No Load Speed Carbon Brush
msUsuBao  45°(Left And Right)  AoWenoanaiw 2m

Cable Length

5. Usaonoa 1 SU (Bar Wrench 1 Po)

U 3 T U Usanniuid T-Shank

laguluua Usinnluidion -Shan
1 — L}

HAIWYVNAQ U IJ AcwaNUSOluMsidos 90°/45°

1 Max. Cutting Capacity 65 mm / 35 mm

ANUKUNYODIEQ T (wood) / 85 mm

Max. Cutting o

Of Materials KGN (Steel) / 10 mm

oqUIden (Aluminum) / 10 mm

IS0V ToEIL : POWER TOOLS

uunaindon 7.5%22x23 cm
Dimension
Uhrudn 2.2 kg
Net Weight
UhKUnsouans 2.4 kg

Gross Weight

Category 08



INSOVIADHINISO

JIG SAW

:i.r
.r";
/ N
:"’!5
.-";
e

InSovijos1v : POWER TOOLS Category 08



.. @5@@@@@@@]}3@
- now 231

-~

THER

W& " BOUTNINY sip9 7 F .'

Fig. | Description of part QTY | Price Fig.| Description of part QTY | Price
1 | STEEL BALL @9 MM 32 | MOTOR BRUSH
2 | LEVER 33 | DUST NOZZLE
3 | LEVER BOARD 34 | STATOR
4 | LEVER BOARD HOLDER 35 | BEARING 607
5 | RETAINERPIN 36 | UPPER BASE
6 | COMPRESSION SPRING 37 | BASE
7 | DUST CONNECTION 38 | RIVET
8 | DUST CONNECTION 39 | HEXAGON SOCKET HEAD CAP SCREWS M4X8
9 | STEELBALL Y 40 | CASE HOLD-DOWN PLATE
10 | SPRING 41 | HEXAGON SOCKET HEAD CAP SCREWS M4X16
11 | RESET WRENCH 42 | GUIDE BOARD
12 | CONNECTING PLATE 43 | CABLE
13 | STOP RING 10 44 | PLATE
14 | STOP RING 6 45 | CABLE PROTECTOR
15 | SLEEVE 46 | TAPPING SCREW ST4X16
16 | PLATE 47 | CABLE GRIP
17 | PIN 48 | DUST SEAL
18 | GEAR COMPLETE 49 | SPEED CONTROLLER
19 | BALANCE PLATE 50 | SWITCH
20 | PIN 3X7 51 | SHELL(LEFT)
21 | PUSH PLATE 52 | DUST COVER
22 | SHELL(RIGHT) 53 | SAFETY WIRE
23 | TAPPING SCREW ST4X35 54 | RETAINER COMPLETE
24 | COLLAR SLEEVE 55 | PIN
25 | ROUND PIN 56 | ROTATING OWEL PIN
26 | BEARING CASE COMPLETE 57 | RETAINER WHEEL
27 | HOLDER A3 58 | ROTATING OWEL SPRING
28 | BEARING 608 59 | SPRING
29 | ARMATURE 60 | RETAINER BUTTON
30 | CARBON BRUSH 61 | PIN
31 | COPPER SLEEVE 62 | PIN

InSovijos1L : POWER TOOLS Category 08



